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1.
V\fho among the following Haryanvi
singers was known for Ghazals in Hindi
cinema during the 1930s and 1940s ?

(A) Noor Jahan

(B) Kishori Amonkar

(C) Zohrabai Ambalewali
(D) Lata Mangeshkar
(E) Not attempted

2. Which figure given in the alternatives will
complete the pattern in the figure given in

question ?

A) ®) ﬂ
©) ) @

(E) Not attempted

3. What is the rank of Haryana among

Indian States in.terms of
(B) Fourth

(A) Second
(D) Third

(C) First
(E) Not attempted

Which of the following equation
represents a straight line ?

(A) y=X+4""

(B) ¥ +y =25

(C) 2x+3y=6

(D) Noné of the above

(E) Not attempted

1. ﬁm%f@ﬁmmﬁﬁ%ﬁmgm '.

software export ?

GET IT ON
Google Play

CE1G -25

3 1940%m-ﬁ%afhﬁmﬁm
¥ fere arft wret & 7

(A) TFT " (@) sen

(C) T&sT! (D) de

(E) rmied

o Pt & -G THET T

Y1 w1 e F ,
(A) y= e W S |
(B) ¥y =25"" %
(C) 2x+3y=6 l
(D) I 1Y B T .

(E) _‘;



https://applink.adda247.com/d/XhqWf9lSap

Adda247

O
S. Selectth
the ams re: c:r::;:: acl}ternative_u that Indicateg
th'e order jn which th € given words in
Dictionary, ©Y appear i English
1. Prestige
2. Pristine
3. Prescribe
4. Prepaid"
S. Premium
(A) 5,4,3,1,2 (B) 45 81,2
(C) 4,5,3,2,1 (D) 5,3,4,1,2

(E) Not attempted

6. If 6 men and 8 boys can do a piece of
work in 10.days and 26 men and 48 boys
can do the'same work in 2 days, then the
time taken by 15 men and 20 boys to do
the same work will be

(A) 6 days: (B) 8days
(C) 4 days™ (D) 7 days
(E) Not attempted

7. Who amo!ﬁg the following was the first
Indian-origin woman to travel to space
and was bom in Karnal, Haryanad ?
(A) Manushi Chhillar
(B) Kalpana Chawla
(C) Sunita Williams
(D) Santosh Yadav
(E) Not attempted

win the end”
8. In a certain. code language:

TR isn
means “moh fjk omt end

11 | " d "In nea r
“azi*; [:;r:gsh a&hat will be the code 10
llo:arl’ ? -ﬂ‘lh
(R) bod ™3 (8) azn

e
pafit U OR

(E) Not attempted
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5. Premium
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(A) T fsee
(B) FHedL =<l
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(D) e e
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. fereft 52 w1 | “in the end” @1 31 “moh

fik omt” &, “end is near” &1 3 “azh moh
bod” & 3K “in near future” &1 31 “omt

azh epy" & | “near” % foTe e = g 7

(A) bod (B) azh
(C) moh (D) epy
(E) 3wt
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10.

L g

12.

13.

When was ASEAN (Association of South
East Asian Nations) established ?

(A) 1992 (B) 1949

(C) 1967 (D) 1985

(E) Not attempted

Ghaggar-Hakra river basin is classified in
two parts, where the higher area that is
not flooded in rainy season is called

(B) Banjar

(D) Kalar

(A) Bangar
(C) Khadar
(E) Not attempted

Complete the following analogy.

All = A\ A[V]] | 2
® [\
/A

(A)

(D)

v/
/A

(E) Not attempted

(©)

The Sheetala Mata Fair is organized in

which district of Haryana ?
(A) Ambala (B) Karnal
(C) Gurugram (D) Jhajjar

(E) Not attempted
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4. A candidate who Scores 20% of markg in

an exam fails by 30 marks, while anothe

candidate who scores 32% of the marksr
gets 42 marks more than passing marks
What is the total marks for the exam ? |

(A) 500
(C) 300

(B) 600
(D) 400
(E) Not attempted

15. The National Voters’ Day is observed on

(A) 30™ December
(B) 25" January

(C) 25™ November
(D) 26™ November
(E) Not attempted

Which cana_l:irrigates Gurugram and
Faridabad districts of Haryana ?

16.

(A) Jawahar Lal Canal
(B) Gurugram Canal
(C) Bhakra Canal

(D) Bhiwani Canal
(E) Not attempted

How many times in a day, are the hands

i of a clock in straight line but opposite
direction ?
(A) 20
(B) 48 f;
(C) 22 .-_;T:i-.
(D) 24 =i

16.

17.

(E) Not attempted
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18.

19.

20.

Which of th ¢
Indicates the
Quadrilateral. Ry

Ollowing diagrams
best relationship between
mbus, Polygons ?

" (. O

(B)

O B

(E) Not attempted

Which tier of Panchayati Raj is.
responsible for rural development at the
district level in Haryana ?

(A) Zila Parishad

(B) Gram Sabha

(C) Gram Panchayat

(D) Panchayat Samiti

(E) Not attempted

Which of the following are the pfimary

components of a computer system ?

(A) Central Processing Unit (CPU),
Memory, Input/Output devices and
Storage devices

(B) Central Processing Unit (CPU),
Monitor, Software and Cloud Storage

(C) Operating System, Soﬂwﬁré,
Hardware and Internet |

(D) None of the above .

(E) Not attempted

18.

19.

20.
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21. Ana
inVe::::;ng ;‘Jaeepak started.a business o CE1G - 25
reéspectiveg| S S M R R 22 5 -
2 10,800 OUtofatotal roft of < 35,0003 i a5 e <
" Uepak’s share is +13.800% et oy LR ;p,q;ﬁ e
(A) X 8,400 (B) ©6.600 W i
(C) 5,400 (D) ¥7.200 :2) :3'400 (B) % 9,600
(E) Not attempteq (E)) 5,400 (D) 27200
22. Match the following. foreiferfiag
National Parks? States a 'y gﬁ%ﬁ o
Wildlife Sanctuaries VN . i
a. Corbett National b
Park i. West Bengal a. Hiee T JaH i. afvem wmer
b. Sunderbans : -
National Park ii. Uttarakhand b, FRRITR R Lo
c¢. Bandhavgarh : c. TYTS USFF JAH i, THAH

National Park iii. Rajasthan

d. i, S=eia A v, HEE e
d. Sariska Wildlife :

Sanctuaries iv. Mé;:lhya Pradesh a ."_b c d
a B. ¢ d- (A) iii i tporsi
(A) iii i iv i @™ E
(B) iv Y N e i |
’ o ¥ ." l D) il i v
(D) ii i iv m= '
(E) Not attempted “ (E) ama

i o WY S H R 7
23. What does the computer.do with the input | 23 ST ¥13E,

received ? (A) T& 3 H T HYA T el B
(A) It sends the data to anlother computer (B) T S 3
(B) It deletes the data (0) TE T 1 1w o & I A
(C) It processes the inp?i;?nd generates a:ﬁl;g =t
output ﬂ (D) e & & HE T
(D) None of the above M e I .I--
(E) Not attempted ; w
'7.
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24. Consider the following statements about T ot & wit _
Ajanta caves, 24, sy RIS % ARCA Fretferfian g
I. They are located in the Aurangab R = | 4 e
district of Maharashtra, ik |, & HATTS & 'ﬂ‘rrrrm f‘ﬂ«-«r i for 3
ii. It hgs twenty nine caves, built over a i, gail e ToRTd ;;'”—,n @ ke
_ Period of almost eight centuries. st 1 vty & s E
il Ca\fe humber 26 is very big and il, 1Bt e 26 A7 W) R
eni!re interior hall is carved with b gie Eﬁ £1 faftrs whor
variety of Buddha images. 5 11*{% |
Iv. The biggest one is Mahaparinibbana | __ P
image. v, gad ad B q‘;{ﬂﬁﬁﬁ'ﬂfl
Which of the statements given above is/are Iqde & B a1/ i qél 2/ 6 !
(A) Only i (B) Only i and ii R i —_—
(C) Onlyiiiandiv" (D) All of the above (? A i3 v (D) ITIH
(E) Not attempted (E) |
- i e 5§ 984 I a1
25. Whatis the name of the woolen mufflerwomn | - 25. ghmon # et g
around the neck by men in Haryana ? St TR 1 F=T AH 27
(A) Mirjai ~ (B) Chaddar (A) s _ (B) ITeX
-' (C) Guliband (D) Kamari (C) TS (D) =1
(E) Not attempted (E) 3Tvamea — . 0
. r 4 O'O
26. An article is marked at 3,000 and is sold | 26. T ¥ qta; 3,000 m 2 'ﬂﬁaﬁ )
at a 40% discount. If the shopkeeper incurs i G W Grlﬂlzﬁ e aaﬂgﬂiiﬂ;(a E
a 10% loss on the cost price, then what @ Jed | 10% . ’ q
was the original cost price of the article ? ] IRdTaS ArTd god &1 25.0
(A) 1,800 ~ (B) ¥2,250 (A) X 1,80()1- (B) :2100
(C) T2,000 (D) 2,100 (C) 32,000 D) 22,
: | (E) St
(E) Not attempted Pt _
. s 27. Wﬁm%ﬁwﬁmﬂa—m
27. Which traditional jewelry piece won? y _ B, a6 3 g%
Haryanvi brides consists of a spherical- qRYTE
shaped ornament attached to a string of MATRR qgi'ga 1 Bl 2 ?
gold ? (A) Il ﬁm_
(A) Koka u‘
(B) Nath “3
(C) Borla |
(D) None of theiabove
(E) Not attempted

bo——
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28.

29.

30.

31.

32.

Where . )
Haryan:& ghﬁkhl Dhani situated in-

(A) Sonipat
(©) Panipat
(E) Not attempted

(B) Kurukshetra
(D) Karnal .

What is the relationship between HCF
and LCM of two numbers a and b ?

(A) HCF x LCM =a x b
(B) HCF+LCM=a+b
(C) HCF xLCM =a+b
(D) None of the above
(E) Not attempted

What does DSS stand for ?
(A) Digital Satellite System
(B) Direct Service Satellite
(C) Digital Satellite Service
(D) Direct Satellite System
(E) Not attempted

Select the correct sequence of rpgt'li_]ematical
signs to replace the * symbol and make
the given equation correct.

Equation : 216 = 6 * 8 * 64 % 48 = 500
(A) X, +, + = (B) x, +

(C) + — X, + (D) +, +, X3

(E) Not attempted

Which of the following is a joint venture
between Japan and France located in
Sonipat district of Haryana ?

(A) Glaxo Smith Kline

(B) Ranbaxy

(C) Nestle India
(D) Yakult Danon
(E) Not attempted “

o India Private Limited

GET ITON
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——

28. wfamn 4 o el
: A=t gyofy el fem e
(A) Arfraa (B) uipy
(C) rfun

30.

31.

32.

(D) s
(E) srvarfiq
& Wi a 3 b
& o o ey 2 -
(A) 589 x50,
(B) BEY. + 98T =a+b
(C) 99.9. xA7°99. =a+b
(D) 3WF & @ #15 7F
(E) @asnfoa
.UH.TE. F o 5 R 7
(A) Tefee @2emse fawen
(B) SHae fdw #eamse
(C) Teforeet Heemge wfdm
(D) SRt &eemse e
(E) RTHA

i gt = @ w9 g S -
=1 gherenfia @ R el S FE S
b [

AfieToT : 216 * 6 * 8 * 64 * 48 =500

(A) T N (B) Ty ¥
(D) # %=


https://applink.adda247.com/d/XhqWf9lSap

Adda247)
=

33. Qonsider the following statements about
river water system of India,

1 h:\ Deccan Region, most of the major
river systems flowing generally in the

east fall in to Bay of Bengal.

The river Cauvery in the southern

p'eninsula has the second largest

river basin covering 10 percent of the

area of the India.

Which of the above statements is/are
correct ? '

(A) Both 1 and 2

(B) Only 1

(C) Only 2

(D) None of the above
(E) Not attempted

34. The value of (0.3)%is o
(A) 0.027 (B) 0.0027
(C) 0.27
' (E) Not attempted
35.

Which instrument is used to measure the
wind velocity ?

(A) Anemometer
(B) Odometer
(C) Thermometer
(D) None of the above ot
(E) Not attempted

36. Who is popularly known as the ‘Swang
Samrat’ of Haryana ?

(A) Baje Bhagat

(B) Ali Baksh

(C) Harish Kataria
(D) Pandit Lakhmi Chand |
(E) Not attempted N

-10-

GET IT ON
A Google Play

CE1G—25

34.

35.

36.

fircet & |
0. et Tty & ) A4 A
10 wfasr @ 1 e H ATl g
wadt w4t 74 A2 |
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(E) st

.

(0.3)%%1 UM 23 =
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(C) 0.27 (D)27
SEEERIED) s

"y

IR 3 T % R fRE ST 1 S
o s 2 7
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(C) ywiHieX =
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BIETN < T wWE % 99 g B
wIiE R 7 "
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(E) Irsrnfea N



https://applink.adda247.com/d/XhqWf9lSap

Adda247)

38.

39.

40.

A

GET IT ON

Google Play

What i
8 the signif
ic ,
Odhani in Hag :':lnce ofthe ‘Peeliya’
ryana’s customs ?
(A) Sent
'y by parents to their daughter
er the birth of a male child
B '
(B) Worn during harvest festivals
(C) Worn during marriage ceremonies
(D) Given to a bride by her in-laws
(E) Not attempted
What is the name of the mirror-studded ring
worn on the right hand thumb by women in
Haryana ?
(A) Kangni
(B) Ponche
(C) Anant
(D) Aarsi
(E) Not attempted
If ‘A’ means ‘+, ‘B means =, ‘C'means +,
and ‘D’ means ‘X, then the value of
18A12C6D2B5 is
(A) 17 (B) 45
(€) 15 (D) 25
(E) Not attempted
In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.
i bc'ca__aba,cﬂca
(A) baaba (B) abbcc
(C) abcbb (D) bbbec

38.

39.

40.

(E) Not attempted
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feu U 2 | wet fasmed IMT |
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(A) baaba (B) abbcc
(C) abcbb (D) bbbce
(E) Irwied
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41.

42.

Which of the following pair is not correctly
matched regarding the Cabinet of Akbar 7
(A) Diwan = Revenue Minister
(B) Khan-i-Saman = "Home Minister

(C) Vakil = Chief Minister
(D) Diwan-i-Ali = ‘In-charge of
Charities

(E) Not attempted

Perfetti Van Melle India is located in
which district of Haryana ?

(A) Gurugram

(B) Sonipat

(C) Faridabad

(D) Ambala

(E) Not attempted

What type of signal dqu Integrated
Services Digital Network (ISDN) use ?

(A) Hybrid
(B) Analog
(C) Digital P
(D) None of the above
(E) Not attempted . .

The common difference of the Arithmetic 44.
Progression l ﬂ J—_—EE is
og L] P ] P yrur

(A) 1

1
B) 5
(€) ~1

o
() ~p .y

(E) Not attempted h

12-

1
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45. Consider the followin

46.

47.

; g stat
Constitution of India. T Sbout

I :\mcle 48 envisages States to provide
ree and Compulsory education.
';‘2:: (F;arliament of India brought
onstitutional Amend i
oy ment Act in
Through 86™ Constitutional

-Amendrnent. Article 21A is inserted
in the Constitution.

. Right to education is a fundamental
right for children between 6 to 14 years
of age. ;

Which of the statements given above are
correct ?

(A) Only iii and iv
(B) Onlyiandii
(C) Only i, ii and iii
(D) All of the above
(E) Not attempted

The seasonal river Markanda originates
from which area of Haryana ?

(A) Rajasthan Plateau

(B) Yamunanagar Forest'

(C) Aravali Hills

(D) Shivalik Hills

(E) Not attempted

Which of the followi .
is inspired by Great Green Wall of Africa ?

(A) Aravali Green Wall Prf:ni_gct ~
(B) Haryana Forest Hebuu.!ﬁi'ijec
(C) ghivalik Green Wall P{o;ect.ect
(D) Chandigarh Green qut-frol

(E) Not attempted

12

ng Project of Haryana

A

CE1G - 25
4B, e W . -
mmﬁﬂ?%wnﬁmfmﬁaﬁaaw
'-me&iaﬁrh:_w v
aﬁa’rﬁ&mmmgﬁwﬁm
w2 |
il. M 1 w\eg 3 2006 # 86 af
gifaenfr wviem sfafem s
fema
iil. 86 d wifeenfrsr aoi % mem 3
wfoum § srede 21A wfier fen
™R
iv. Bren &1 s e @ 14 i 3 &
g1 & fou s difers sifomn 2
T feu U Al § & S A R
(A) Hae i AT iv
(B) e i AN i
(C) =Hae i, ii A il
(D) ST &t
(E) 3Tnted

afen 5 g & & deh T8 T
freperdi B 7

(A)W@ﬂqw

(B) AT

46.

(E) mEa
(A)aﬂ'ﬁ?ﬁmﬁa :
) et T
© e
(mm;ﬁqaﬂ

(E)

-13-
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48. B i
adhkal Lake is located in which district
of Haryana ?

(A) Kurukshetra
(C) Hisar

(B) Panchkula
(D) Faridabad

(E) Not attempted

49. 'Which number will come in the place of

question mark (?) in the following number

series ?

3,5:9,7, 33,65

(A) 17 (B) 19
) 13 (D) 15

(E) Not attempted

50. The signs of abscissa and ordinate
of a point in the second quadrant are

respectively

(A) (+,+)

€ =+

(E) Not attempted

(B) (=)
(D) (+-)

51. Consider the following statements about

classification of climate.

1. The most widely used classification
of climate is the empirical climate
classification scheme developed by
V. Koeppen.

2. V. Koeppen identified a close
relationship between the distribution
of vegetation and climate.

Which of the above statements is/are
correct 7

(A) Both 1and2

(B) Only 1

(C) Only 2

(D) None of the above
(E) Not attempted

13

48.

49.

50.

Dl
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53.

54.

55.

56.

(C) Compact Disk (CD)
(D) Solid-State Disk (SSD)
(E) Not attempted

The Sum of digits of a two-digit number
1S 11. If the digits are reversed, then the
New number is 9 more than.the original
number. What is the original number ?
(A) 45 (B) 54

(C) 56 (D) 68 ©reli

(E) Not attempted @~ .

Select the word from the givenﬁgﬁlfernatives
which cannot be formed by using the
letters of the following word. :

CONVERSATION
(A) VERSION
(C) NATION

(E) Not attempted

(B) REASON
(D) STATION

Nominal Gross Domestic Product (GDP) is

(A) Gross Domestic Product (GDP) .
evaluated at constant market prices

(B) Gross Domestic Product (GDP)
evaluated at per capita income

mestic Product (GDP)

Do )
i t market grtces

evaluated at curren

(D) None of the above
(E) Not attempted
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56.
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57. Angles of a quadrilateral are in the ratio

3:4:4:7. Find the smallest angle.
| (A) 80° (B) 140° . .
. (C) 20° (D) 60° |
(E) Not attempted

‘.,ji

58. The Chalukyan style of archltech‘l";f{é is the
unique synthesis of which of the following
Styles of architecture ?

(A) Nagara and Hoysala styles .
(B) Dravida and Nagara styles.
(C) Dravida and Kalinga styles
(D) None of the above ot
(E) Not attempted

59. lfa:b=5:7andbic=8:9, then what
is the ratioofa: ¢ ?
(A) 45:63 (B) 40:54.
(C) 35:54 (D) 40:63

(E) Not attempted Py

’ 60. What are data chunks transmitted over
the Internet called ?

(A) Segments
(C) Frames
(E) Not attempted

(B) Bytes
(D) Packets

s

% 1

61. Which of the following is not trueap
A 5ra=2+2
®) 3+3-2x3
- §~-45-'=f;—“§

(D) -§xf—=§x§ :

¥
dicw

(E) Not attempteq

2.

&
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58.

59.

60.

61.
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62. The gy
are in the pap ¢S Of A ang Bisy CE1G - 25
ratio 23: 1 S 72, I they
of B. + 19, then find th 62, A 3 B
€ age 3|Tg - 3?]'3 o 72 Zﬂ% FP
(A) 24yeal‘$ 3":]%323;133 TﬁBﬁ
(B) 26 i Hifey | 1y
(C) 32 yeqr years ) 2
(E) (D) 46 years (B) 26 71
Not attempteq (C) 324 (O) 4sé
Wh (E) 3rrfiry
ore is Mahﬁrana Pratap Horticulture
University located in Haryana g =" S L LU
() Sonipat (B) Karnal Fafirerer Fel frm 4 4
i ' (A) wrfie
(C) Sirsa (D) Jhajjar (C; e (E) FATH
(E) Not attempteqd ' © | (D) Frwo
64. A train travels at a speed of x km/hr for 64, U ¥ x et [ 6 8 o -
2 hours, then decreases its speed by Tt & fie AR 1 10 ﬁﬁrﬁ/ua -
10 km/hr and travels for another 3 hours. 0 2 l% N eyt it
If the total distance covered is 370 km, 2 a7 ﬁ . %1 28 370 Pl 2 a1
then what is the initial speed of train ? ¥ o T N W £ y €
(A) 90 km/hr (B) 60 km/hr (A) Qoﬁﬂﬁ/ﬁa (®) 60 Feft /i
(C) 80 km/hr (D) 100 kmv/hr ©) sofh/da (D) 100 Fesi/sian
(E) Not attempted (E) 31snfia
65. Article 21 of Indian Constitution states 65. VR gfaam + aﬁa 2j T a1 T
that no person shall be deprived of his life © fop ot oft =xfm _w 3G S Al
or personal liberty except SfdaTd TEdaAd @ afaq 81 o S,
i Tam
(A) According to the procedure
established by law (A) HI gz @nﬁam ;r%en + AR
ident’s order (B) T
(B) By the President’s ori _ -
C) By the Prime Minister's consent (C) 9“"‘“*'? ;ﬁ [qﬁm \:
( % (D) I | ®
(D) None of the above )
(E) Not attempted 2 3 0 g A Fe—
‘ Hariyall Yojana' | 66 FCTTLE B
36. In which year ‘Har Ghar ? g I ™ (B) 2018
was launche ( i
A) 2015 (B) 2018 (C) 2017
: (D) 2016 (E)
(C) 2017

(E) Not attempted
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67. Choose the figure from the
in which the f

68.

69.

70.

B
&

(E) Not attempted*

(A) (B)

(©) (D)

If sin®0 — cos?0 =0: then 8 is
(A) 30° - (B) 90°

(C) 0° “(D) 45°
(E) Not attempted.

Tangri river is a tributary of which river ?
(A) Ganga

(B) Markanda

(C) Yamuna

(D) Ghaggar

(E) Not aﬂemptéd :

When was the firstGeneral Election of
India held ?

(A) 1956 — 57
(B) 1948 - 49

(C) 1951-52 .
(D) None of the' above

(E) Not attempted j
I

given alternatives
ollowing figure is embedded.

~18-
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g
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(A) 30° “ (B) 90°

(C) 0° (D) 45°

(E) g
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(A) TR

(B) AREHUET

(C) Ig
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(E) ST
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72,

73.

74.

75.

Which of the foIIOWing famous battle was
fought in Sirsa district of Haryana ?
(A) Battle of Gujarat

(B) Battle of Chormar
(C) Battle of Thanesar

(D) Second Anglo-Sikh war
(E) Not attempted

Which of the following was the partner State
of Interational Gita Mahotsav 2024 ?

(A) Odisha (B) Rajasthan

(C) Gujarat (D) Uttar Pradesh
(E) Not attempted

How many timesPresident’s Rule has
been imposed in'Haryana ?

(A) Three

(B) One

(C) Two

(D) None of these
(E) Not attempted

What is the average of first 40 natural
numbers ?

(A) 20.5
(C) 195
(E) Not attempted

(B) 40
(D) 20

The meaning of Phulkari is

(A) An art of shawl making

(B) A large part of villages of Haryana
(C) An art of maldhg clay pots

(D) None of the above

(E) Not attempted

-.1 9;—
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75.

(D) % & %t 7
(E) Tvafim
W 40 e FAH = it =
g ?
(A) 205

(C) 19.5
(E) 3T

(A) T & HHTH Fell
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() Frft % wdv-R H T wHel
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(B) 40
(D) 20
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76. Choose the ¢
: orrectly spelt word f
following alternatives. .

(A) parmanent (B) permanent

(C) permanant (D) permenent
(E) Not attempted

English Language
81.

77. Fillin the blank with the correct

alternative.

| formy pen. Have you seen it ?
(A) look (B) am looking

(C) will ook (D) looking

(E) Not attempted

78. Fill in the blank by choosing correct
alternative from the alternatives given

below it.

He was born 1945.
(A) in (B) for
(C) on g

(E) Not attempted

Choose the correct alte rnative to fill in the

79.
blank with appropriate active or passive
verb forms. ¥
It since yesterday. =

(A) has been raining
(B) was raining

(C) is raining

(D) have been raining
(E) Not attempted

Direction (Q. No. 80 and 81) : Fill in the blanks
in the following paragraph by choosing the most
appropriate alternative from the alternatives
given below it.

The cave of Ajanta and Ellora (80)
the magnificent works of sculpture. Whoever
goes there becomes spell bound. Thousands
© (81)tourists visit these places every
year. One can stay in the guest house.

80. (A) are
(C) is

(E) Not attempted

(B) were
(D) was™

&
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82.

20-

83.

84.

85.

GET IT ON

A Google Play

CE1('3...25

(B) at
(D) from

(A) of
(C) for
(E) Not attempted

Choose the correct synonym of the
following word from the alternatives given

below it.

Ultimate
(A) Final (B) Victory
(C) Beginning (D) Famous

(E) Not attempted

Give one word substitute for the following
expression.

A period of ten years.
(A) Pioneer

(B) Cavalry

(C) Decade

(D) Century

(E) Not attempted

Choose the correct antonym of the
following word from the altematives given
below it.

Blooming-

(A) Quite

(B) Fading

(C) Mild

(D) Flowering

(E) Not attempted

Choose the correct meaning of the
following idiom or expression.

To drive home

(A) Backto original position
(B) To emphasise

(C) To find one's roots

(D) To retutn to place of rest
(E) Not attempted
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